001. ‘55’ 2 UE/206 sul usR-L [Auid ¢ ?

(A) [ducas (B) dlHicuxs

\Qz/; HRAlAS (D) vLsdlUS
2. AAnidl eud asu 54 ¢ 7
(A) suN 5l %4 89, \}13{ Qe audl zauy.
(C) it A H[Eul g3l sul. (D) Biets Rensll2iiA c18ud 8.
3. DA-uniell 54 A5 oAl ML AR AS USR 6 7
(A) ¥adlu \(,1{) BUIY
(C) 2equLeL (D) HSLMIEL
4. QAR su suul vl wWidl Ild Gualo aul ¢ ?
(A) 2uM-ll et disi-l ¢l ol 6.
(B) HSIHAULAS HAAHT AN HSIHS A usl2ul.
(C) € dl 1Rl HuR 4l #G.
(D) dxul sraisiagl of [l ag 2.
5. “V{3” oeUL sUL VLA iog 28l B ?
(A (B) ¥
(C) & - (D) A
6. «d)2s Nl AGE W2 SUL ALEAHS WAL 7

(B) Waetiellat ax{ y2i ad Galdl G

_(A) wlla ay yi ud Goaldl Gt
(D) U0ld2 a¥ yRi 2d Gdldl Getd

(C) wins ax yi 23 Graldl G
e ol Wt ! 5UH A, M2 Al 77 —uil3d wee SULJHIRAE T

(A) Ay (B) (23
(C) HeuHugdivl ) Guue
8. Al Al : iy + uld
(A) arulRuld ‘gzﬂlmml'&
(C) awguld (D) cu:uld
9, 4§ sl w1l “ASHi Ry dyeL 4l Adl wu e ?
(A) B18t-t B suLRau-l At (B) AR+l e E2lAR
(C) a3 o vieL yull uR vuﬁ e9¢ge -l £92 ARul

10. 3wl el usi2 weudl.
il 4295 20l Gl i AGAIE AGHAU 8.

s 5 s g
(C) &A™ sed (D) Ml 4E
1 DAl s aoe “aen”-l auiuel 4l ?
(A) AUH (B) €
) e (D) €2l
P.T.O.
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12. [pe 90z Yauzl wiz-l due 20 417
(B) 2l4l

(A) uedl
(D) #A4LsL

(C) Aluts
13. THARAA" 24 9108 5 Asu 9 7
(A) a5 s (B) SUAUAS |
(C) euens \ﬁ ELEEE
4. orqerr) euuii quatdy ausl, 208l A 2l 202 % 20eae-il AR Iz e ? |
(A) 25t gl g1 24140, (B) uRrtu 21 gsuaug 5 ... 7 '
(C) #le=l uelieu 5274, (D) 2 2 ©. 4
5. WAl 54l ¢5e 17 a2l 42l ? |
(A) yedl (B) HELSLL i
{?f ¢[2ell WEIEEL |
16. Select correct antonym of the given word. “Miserly”
(A) Hospitable (B) Philanthropic @
(C) Generous (D) Lamentable
17. We could see the river us from the bridge.
(A) before (B) on to
(C) beside /a))" below
18. You___ pleased to hear that vour father to the committee.
(A) are, is selecting (B) will be, has been selected
_L€) have been, was selected (D) have been, selected '
19. He should __the exam in May, but he was ill. !
(A) be taking (B) be taken
m've taken (D) have been taken
20. He wants a complaint about the owner.
/@0 make (B) making
(C) makes (D) made
21. Do you want something __now ?
(A) having, drinking (B) to have, drinking
(C) have, for drink (D) to have, to drink
22, Select appropriate one word for “one who leads an austere life”.
(A) Fugitive (B) Gourmand
(C) Ascetic (D) Flotilla 4
23, Arijit Singh had a good for stage.
(A) troop Mpc
(C) troupe (D) trup

—— R &> OO0
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26.

21,

29,

30.

31.

31

3.

I was so _ by the news that I don’t know what to say.

(A) admired (B) marveled

(C) amazed (D) wondered

The restaurant has some of the best chefs in the town. B
(B) Morever

(D) Although

(AYTn addition to
/(C) Beside

— e | mm T [

_ their service 1s excellent.

an enigma to me. Replace the underlined word.

Philosophy has always been 0 _
(A) a p[‘ﬂblEHl /(Bﬁnl}'stcr}'

(C) an energy (D) a draft
The.iriternet wires have been cut. (Change the voice)
K The internet wires have cut by someone.
(B) Someone has been cut the internet wires.
(C) Someone have cut the internet wires.

(D) Someone has cut the internet wires.

We our lunch half an hour ago.

(A) finished
/(G)"lﬂwe finished
Her

(A) forgetness

(B) had finished
(D) has finished

(B) forgetless

P (.C)"fﬁ?goﬂen (D) forgetful
Select the wrongly spelt word.
(A) Sieze (B) Grief
(D) Picce

(ﬁ'éerce

Veto power Is not possessed by

(forget) nature often puts her in critical situations.

in U.N. Security Council

(Choose the correct su (hix)

(A) UK. (B) USA
(C) Russia (D) West Germany
U N. 520191 s16=lal, N3 14 A wd D war -l ?

(A) §d-$ (B) A5

/(C’)'?@lm (D) u(m -l

Which of the follwing is not an agency of U.N.

(A) WHO (B) IMF

(C) Red Cross (D) FAO

QA 14 56 gl A= Al ?

(A) WHO MF

(C) Red Cross (D) FAO

S P.T.O.
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33.

34.

34.

33,

36.

36.

37,

37,

38.

38.

-

The most important small scale industry in India s
(B) Paper Industry

(D) Jute Industry

(A) Textile Industry
(C) Handloom Industry

~URAH] Al Heayel ag GelloL sul 6 ?

(A) 5143 Gedldl ﬁ_( 1o Geldl
(C) d-s4u Gellol (D) 2t Gell!
The plant important to sericulture is
(A) Pea (B) Legumes
(C) Mulberry (D) Cassia
UM GOUL sl 1913 ot o Wl O ?
(A) d2w (B) 5610

) 2Ad2 (D) (2
Which of the following river is recharged by subsoil water ?
(A) Godavari (B) Damodar
(C) Narmada (D) Krishna
AL U4 56 €] ol wiellel R (Recharged) & € 7
(A) 2Uelas] (BYEIHIER
(ORE (D) ™l
Which Country has written on their coins following. “This is the root cause of all evils”
(A) Italy (B) Vatican City
(C) Cuba (D) Russia
5U1 2L [R5 U Y dH wRRd Y 87 d avig 6 ?
(A) Hadl (B) A2+ R4
(OERL / (D) A3t
Which of the following has no skeleton at all ?
(A) Star Fish (B) Sponge
(C) Jelly Fish (D) Silver Fish
AA-Auiedl sl gr3fioy? -4 ?
(A) 2R Hdl (B) 2l

) el B (D) Ricaz B
Which animal can create the loudest sound among following ? 4//
(A) Sperm whale (B) Gibbon
(C) Himpback whales (D) Howler Monkey
A=At WSl 5y el Al wi2ell 2qcney 530 93 6 ?
(A) UM 2Ls (B) [B1e4+
(C) $¥uils bl (D) §leR a2

MDTACI - 2023 - A | 6 [Contd.
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39. “Spermology™ is the study of

(A) Seeds (3) Leal

(C) Fruits () Pollen Grains
39, Cauiaizo” sa [QuuHl mewa 8 ?

(A) el (13) "ol

(C) 50 (D) R 2407 (Pollen grain)
40, The energy released by 1 gram ol glucose is

(A) 3 Kea (B3) 4 Ken

(C) 5 Kea (D) 6 Kea
0. Tasogssuid 2l 6w B Y i}

(\) 3 Kea (B) 4 Ken ;

(C) 5 Ken (D) 6 Ken
11. Who is the author of “Anandmath®,

(A) Rabindranath Tagore (B) Sarojini Nayadu

(C) Jyotiba Dhule (D) Bankim Chandra Chattopadyaya
A CeedE M AL A s Al ?

(A) 2T 202 (13) 23170\ -4

(C) rutdlou 54 \ﬂ{) o Slu2dg Azl
42 “India wins reedom™ is the autobiography of 7

(A) Abdul Kalam Azad (B) L.K. Advani

(C) Rajendra Prasad (D) Subash Chandra Bose
12, *“India wins Freedom™ %A 214l 2uesa 49 7

(A) MY 54N PUAE (B) e, 5. w5

(C) 217 UAIL J}f) 12;muuir; ol
43, The purest form of iron is

(A) Wrought Iron (B) Steel

(C) Pig Iron (D) Nickel Steel
13, dvisf Al ya s’

(VEERE Aln 4 (B) 2414

/ﬁ,v, (4ot 114+ (D) (Msazdla

44. MS-Word is an exampleof

(A) An operating system (1) A processing device

\}d Application Soltware (D) An input device

4. MSWord........... 4 Geza 09,

(A) AUzl A2y (B) wiA=ln fand

(C) s dlZa14 Hiz2d2 (D) 5 G2 Gusan
MDTACT-2023-4 | 7 P.T.0).
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45, Ctrl, Shift, and Alt are called Keys
(A) Modifier

(C) Alphanumeric

(B) Function
(D) Adjustment

45, Ctyrl, Shift 2= Alt A .......... A sdami 2ud 8.
(6.) Y {RETUE) (B) §5- -,.
w@m—q\ﬂ&g (D) AINRH2
40. With which of the following was Satyajit Ray associated
(A) Commercial Art (B) Classical Music
(C) Classical Dance (D) Direction of Films
46. DAl AW 3 58 vloid A AsUAA O U
(A) s1ellua 20 (B) 2uRAAlu A2l
(C) wAlu 4ed \,(1{) Beaild e
47. M.S. Subalakshmi has distinguished herself in the field of
(A) Kathak (B) Bharatnatyam
(C) Playing Violin (D) Vocal Music

47. A, A, yoenaellad st A Wdiell 2uadl 2inv el ¢ 7

Ma V}:ﬁ)@ad q12a¥,

(C) awl(&- adusd (D) 2uuA
48. Which city is known as “City of Blood” in India ?

(A) Jaisalmar -&BfJodhpur

(C) Yavatmal (D) Tezpur
48.  MRdd 5y A8 “City of Blood” d3l5 ALy ¢ ?

(A) BUAHR (B) A4YR

(C) YddHId (D) d%YR
49. The world famous “Khajuraho” sculptures are located in

(A) Maharashtra (B) Gujarat

(C) Odisha (D) Madhya Pradesh
49.  [da ulAe “vgRuel” [Qieul sun 2 2udar e ?

(A) H8IRIN (B) A%3Ud

(C) 2ldlau ﬂf) HeY Uel
50. B.C. Roy Award is given in the field of

(A) Journalism (B) Medicine

(C) Music (D) Environment
50. B. C. Roy &ldl$ 5ul &= 112 Asmdd ¢9 ?

) UASIR (B) €<l

(C) 2l (D) YulaRel

MDTACI -2023-A ] 8 |Contd.
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SN, Complete the series. 2, :] :)IJ‘) b i SO
(A) 74 ny N (B) 75
A\
(C) 76 VS 'v-x'b (D) 78
st el yel 52U 2:, 59, 19 37
(A)Y74 1 _/ % (BB) 75
(é) 76 (D) 78
52 January 1, 2008 was Monday. What day of the week lies on January 2, 20107
(A) Tuesday (B) Wednesday
(C) Thursday (D) Friday
52. 1l 2wy, 2008 AL AHAR Sell. 229 oAg2udl, 2010 AL sul R ¢ ?
(A) HANAR (B) vlHaR
(C) AIUR (D) YbellR
Y By selling 12 chocolates for Rs. 10, 2 man loses 20%. How many for Rs. 10 should he sell to get
aeain of 20% ?
(A) 6 (B) 10
(C) 8 (D) 9
53, sl 3u 10w 12 Asd2 dacel 20% A vilz 2au 8. AR 20% 81 s 2 3L 104 Sdl Alsde
Ayl Ao ¢
(»RN (B) 10
york (D)9
54. If a man were to sell his pen for Rs. 720, he would lose 25%. What price must he sell it for to gain
25% ?
(A) Rs. 900 (B) Rs. 960
(C) Rs. 1000 L AD) Rs. 1200
5. o sl -l A 31 72040 A2 dl AR 25% L vile 2u 8. dd 25% sl Horaar W2 g (33d U
dadl AL ?
(A) 3. 900 (B) 3L 960
(C) 3L 1000 (D) 3L 1200
DS, The interest:earned on Rs. 1500 in 3 years at simple interest is Rs. 540, Find rate ol interest per
annum ?
(A) 11% (B) 11.5%
(C) 12% (D) 12.5%
55 3L 150042 3 4t 2iq 3L 540 B2 AL ey 1oL O, oll Ui £ 4 ¢l ?
(A) 11% (B) 11.5%
(C) 12% (D) 12.5%
MDTACI - 2023 - A | ) P.T.0.
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milk costing Rs. 48 / litre (o obt

ain a mixture Wor(l
)

S56. In what ratio must water be mixed .w |
Rs. 32 / litre. Assume cost of water 18 ZC1 0.
(B)2: 1
(A)1:2
(C)2:3 (D)3 :2 AL
' A N i udd oA 2 oged| Uikl (A2l L54d 3l. 32 Ul
56. 31 48 MR Rizall cua-t g il welld st YRt 3 #o™
[&22 ey ? welll (3Hd gru IRl
¥ G P is the length of ¢l
_ At is the .
S A train running at the speed of 60 km/hr crosscs a pole In 9 sec. Whatis th B Ic train ?
(A) 120 m (B) 150 m
0 m
(C) 180 m (D) 21
; : 3 ' Al ¢l ?
57, 60 Bal/seausd susl el s 34 A mioten 9 Asrsi R 820 2l doud sedll 2l
(A) 120 122 \/wﬁso Hl2?
(C) 180 {122 (D) 210 Hl22
. —_ ¥ 9
S8. A car is running at a speed of 108 kmph. What distance will it cover in 10 sec. :
(A) 150 m (B) 250 m
(C) 300 m (D) 350 m
58. s 5120l 58w 108 Ball/seus ©. dl A 10 As-sui 32g vidR sual ?
(A) 150 4l (B) 250 Hl
&‘4400 ) (D) 350 1
1
39. If value of x =2 + /3 then what will be value of x + " ?
(A)4 (B) 24/3
(C) 4+ 3 D) 4- 3
. 1 : ;
59.  AxdllEHd 2+ \/Eé,lqd-lx+;'ﬂ[.?sﬂdﬂal21?
(4) 4 B)23 ¢
(C)4+ 3 D)d- 3
60. HCF and LCF of numbers 36, 48, 64 and 72 respectively are
(A) 2,576 (B) 4, 576
(C) 4, 288 (D) 2, 288
60. 36,48, 64 21 72 Al vUgsH ALALU. vl A ULV Y UL ?
(A) 2,576 3 Bﬁ 576
(C) 4, 288 (D) 2, 288
MDTACI -2023-A | 10 [Contd.
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_ . S < h 4 ;? 25 I
what will be next term in following series 2 EJO, TYD, INS, XCH, _?_

I' .
| A} IS4 (B) NSX
(C) NRW M @ ;
o, Foetlal Aol 2wl ve 5 ¢4 ? £J0, TYD, INS, XCH, 2
(A) MSX (B) NSX [
(C) NRW (D) MRW ﬁ
. 1 a man walks 24 km at 8 km/hr, he will be late by 25 min. If he walks same distance at |
12 km/hr, how early will he reach? 1
(A) 35 minutes (3) 45 minutes
(C) 55 minutes (D) 65 minutes
. A 2 uli 8 Bhysas-l 58l 24 Ball d dl A 25 Bifiz 38l udld 8. 4 d 24 % AR |
12 BByseus-l 38l 24 dl 524l adell udlad ? ‘
(A) 35 (A2 ’(};/45 R
(C) 55 (A2 (D) 65 a2
63. If 3 pumps are run for 8 hours a day they will take 5 days to empty the tank. If this tank is to be l
emptied in 2 days then how many hours a day 4 pumps will have to run ?
(A) 10 hours (B) 12 hours
(C) 15 hours (D) 18 hours |
G 3 Raar 8 sals aaani 20d dl du As 208 vidl 5245 [Bar ant . oA 241 214l 2 [Bauul ‘
widl 52l Gld dl 4 YuA [Baql S2aL seus aaiaa udal ?
(A) 10 5415 (B) 12 5415
Me)l{scua (D) 18 5415 '
64. If 20% of x =y, then y% of 20 is same as
(A) 2% of x (B) 4% of x
(C) 20% of x (D) 25% of x
6 Rl 20% Ay Sl dl 20 AL y% 2 udl ?
(A) x L 2% V(;lﬁx 1l 4%
(C) x 1L 20% (D) x L 25%
63. X can do a work in 10 days and Y in 15 days. If they work on it together for 3 days, then how
much work that is left ? |
(A) 25% (B) 40%
(C) 50% (D) 75% G
65. Wb s X A 10 Razei 1A Y A 15 ol 52) 21z 8. A d vid wsd d 514 3 [%2 i; dl aag‘:m .
o115 ?.Q@l ol ? “ N~ 'S ,.3/
/“)/25% (B) 40% W z
(C) 50% (D) 75%
MDTACI -2023 - A ] 11 P.T.0.
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A and B started a business investing Rs.30,000 and Rs.45,000 respccti\’dy. Out of a total profit
of R&.36.000 sharc ol B is

60.

(A) Rs. 14,400 (B) Rs.21,600
(C) Rs.24,000 (D) Rs.12,000
00. A 21 B 2 20454 31 30,000 241 3L 45,000 A 513 53]y ALy sl . 4 151 3L 36,000 UL B A}
ML 52l 4l ? _
(A) 3L 14,400 JB@ 21,600
(C) 3L. 24,000 (D) 31. 12,000
67. ITA:B=5:7and B:C=6:11 then A:B:C is
(A)30:42:77 (B) 35:49: 42
(C.) 55177 266 (D)35:42:77
67. WA:B=5:721AB:C=6: 11814l A: B: CCRLR
(A) 30 :42:77 (B)35:49:42
(C)55:77: 66 Mmz:w
08. P’s income is 25% more than Q’s income. Q’s income in terms of P’s income is
(A) 75% (B) 80%
(C) 90% (D) 96%
68. P -l 2145 d Q -l 2uasdl 25% au1? 8. Q Al vuas d P -0l 2uas wwemi 2¢ & ?
Z(A)‘”’/S% (B) 80%
(C) 90% (D) 96%
|
69.  The valuc of 59 x(125)%% is X
f 7)
A
(A) 5 (BY5 o %
() 55 (D) 25 (9 R
l N[
69. 54 x(125)"% l [Zud A\
N
(A) /5 (B) 5 =
(C) 55 (D) 25
70. If \/4" =64 then value of u is
/ﬁ) 2 (B) 4
(C)6 (D) 8
70. A J4" =64 Sld dl u Al Bud 3ed] ¢l ?
(A) 2 (B) 4
(C)6 (D) 8
- e o
MDTACI - 2023 - A
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" The average of the fivst Give prime numbers is

The total age of Aand Bis 15 VYearsmaore than the total age of 1 and €, C by low many yean

vounger than A 4
(\) 1S yeam {15138 yaara

() Data inadequate

(D) C s older than A

Vet Bl A G2 A B C ol 2igb G2 5201 18 i 4% . Al C A A el 20 ani e 13 7

() 13aM (13) 30 4

(1) Cd A b2elt HI2I 19,

P10

(A)S (1) 6
(C) ‘-:.. i
3 g
byt AR A w3 L) ug) ?
VAL (1) 6
{
O “'1 () =
3 5
. If the numbr 53¢= is divisible by 6, then y - 2
(\) 2 () )
()6 (D)7
-3 wams A St 462 el sl i Al v oAl (A o wd) ?
(\) 2 1 L(,llf:!
(Cr b (D)7
1 suresh introduces Mahesh as the son of the only brother of his father's wife. how s Mahesh
related to Suresh 7
i \) Cousin (B}) Son
(C) Father in Law (D) Son in Law
o aia medarel wfE e Ann (el usflag s s s sty 438 saa ol al wln 4 gia wd 4 s
Ay qaa o ?
AN Az (H) YA
() 4421 (1) WML
8, What is the value of *X° in the sequence, 2,7, 22,67, 202, v, IN22
(A) 62 (1) 605
(C) 607 (1)) 6UN
T sl aglla e Al Bua g ea 7 2,7,22,67, 200, 4, INZ2
(A} 603 (3) 603
() 607 (D) 608
—_—
MDTACT. 20234 13
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76. The forces which donot meet at one point and their Lines of action do not lie on the same plane

arce known as

(A) Co-Planar concurrent forces (B) Co-Planar non-concurrent forces

(C) Non-coplanar concurrent forces (D) None of the above

76. % ool s [ig w2 oL el dn dall siivi As Andeaui Al dag ool ... ddls vy 6§,
(A) duddly A2l s (B) AHddlu 2q2ul vl
(C) AuMddly ous] el \51{) 2] gaulde Ao U4 25y el

i j5 Efficiency of the machine is given by

(A) Velocity Ratio/ Mechanical Advantage
(B) Mechanical Advantage / Velocity Ratio
(C) Mechanical Advantage / Machine friction
(D) Velocity Ratio / Machine friction
77, Al s sl e o 69,
(A) 4oL dRNR [ uils s1ue
UiAs S1uEl [ d21 el
(C) uil>ts s1uel [ uilis avy
(D) <L iR / UilBLs axy

78. Unit of strain is
(A) N/mm? (B) N mm
(C) mm ) No Unit
78.  lAsiRAlvsu g ?
(A) N/mm? (B) N mm
(C) mm (D) ¥ 2l
79. Simply supported beam having u.d.l. over entire span will have maximum bending moment and
maximum sheer force respectively at
(A) Support, Midspan (B) Midspan, Support
(C) Both are at Support (D) Both are at Midspan

79. Atel 2d 25dan ofln (wizsh)-i ama uo Gu AMRAR o1 2094 8 Al AL SUL AT He Ty
o={laL {lA2 Auyel due Rl (sd+ o) 5H S9?

(A) 251, HePUO (B) g2, 251
W—% 251 YR (D) o1~ HEQIUY YR
80. The ratio of volume of voids to total volume of soil mass is called
(A) Water content (B) Porosity
) Void Ratio (D) Degree of saturation
80. Al HEHL gL i 8l g Rsddi-u se 1 u& N C IR T T ES S RETY
(A) 2Alsdl (B) 91 s19]ql
(C) sl ApailnR (D) Acfteledl MHIQL
MDTACI - 2023 -A | 14 [Contd.
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The maximum size of the particles of Clay is about

gl
‘ A) 0.0002 mm :
\.{(’C; 0 02 mm '}B)/O o
%) Y- (D) 0.2 mm
. 54 S8l HSTH HML......... Slu 6.
(A) 0.0002 mm (B) 0.002 mm
(C) 0.02 mim (D) 0‘2 mm

P r - . a . -
The maximum W afel content at which a reduction of water content will not cause a decrease in
the volume of a soil mass is called

(A) Liquid Limit (B) Plastic Limit
(C) Shrinkage Limit (D) Permeability Limit
§2. HielL %'w“*i 2 HETUH FAHAL S el ogemumund at a2ist 1l wdl- e 56 a2ud) 4l o0
A ceeeenens s8Iy,
(A) [asdls dlle \,(f) wWidls dlafle
(C) Rirges dllle (D) ulzuelldld] dlHle
93, Which of the following Bougue’s compound in cement is reponsibile for initial strength.
(A) Tricalcium Silicate (C;S) \/ﬂ{;icalcium Silicate (C,S)
(C) Tricalcium Aluminate (C3A) (D) Tricalcium Alumino Ferrite (C;AF)
g3, -2l Al 54 ol Aulort a3pid distd W2 gaoierR O ?
(A) a6 3edllun [Alase (C;8) B) srusellun [Alasz (C,S)
(€) a83eflun A eydldz (C;A) D) 218 3eeNlun Aegll-l §us2 (C,AF)
84. Which of the following apparatus is used to measure the workability of concrete
Slump Cone (B) Vicat Apparatus
(C) Le-chatelier Apparatus (D) Thickness Gauge
ar  Sidledl aZelldldl auar w2 DAl 5y i QUL O 7
(A) ¥ 51 (B) [@512 v{uReu
(C) a-A2[auR vurey (D) [As 3l
85. Which cube size is used to measure compressive strength of concrete ?
\/(1()150111 X 15¢m X 15cm (B) Sem X Sem X Sem
(C) 25¢cm X 25cm X 25cm (D) 20cm X 20cm X 20cm
85,  Sifle-ll slanialla 22+ Hwual W2 slflenl sy WM ... Sl ¢9.

(B) 5cm X Scm X Scm
(D) 20cm X 20cm X 20cm

on Basic span to depth ratio of R.C.C. cantilever beam having the span

(A) 15cm X 15¢m X 15¢cm
(C) 25¢m X 25¢m X 25¢cm
86.-  Forthe control of deflecti

less than 10m should be less than -
(A)7 i -
(C) 20 (D) 26 |
8. R 2 saq 22, 3-8dlar ol (10 fl22ell 291 22t HI2) YNG4 U1 2 Gl AL et
.......... ofl 241691 lell A4,
(A) 7 (B) 10
(C) 20 (D) 26
S, \ . S
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37. In R.C.C. slab minimum distance between main reinforcement bar in tension should be not

more than

(d = effective span)

‘(}3‘6{1, 300mm

(A) Sd, 450mm
(C) 4d, 400mm (D) 6d, 600mm
87. R 2o 2-anui 8 e Yoo Aol a2 2dz ......... . ofl qug AL AL %ul
d = 9552 Gl
(A) 5d, 450mm (B) 3d, 300mm
(C) 4d,400mm (D) 6d, 600mm
88. The main principle of surveying is to work

(A) From part to the whole

(C) From higher level to lower level

\(9'/[? rom whole to the part

(D) From lower level to higher level

88.  udawaidl yuu [gid .......... 514 Sl 69,

(A) ®td] 20ysi yHl (B) iyl cuot Yyl

(C) G2 222l luat 2 yHl (D) flact 2Rl G2 212 Y4l
89. A relatively fixed point of known elevation above datum is clled

(A) Bench mark
Reduced level

(B) Datum point

(D) Reference point
89.  32u BuR onellal 2AlAdartu M BigA ........ sy ¢,
(A) dd Ria (B) 324 i ~2
(C) Awa Gl (D) 2eod [Gig,
90. The reduced bearing of a line is N87°E, its whole circle bearing is
(A) 87° _B)273°
(C) 93° (D) 3°
90. QO] grue 61331 N87°E 8 di d-f yol gt AR ......... .89,
(A) 87° (B) 273°
(C) 93° (by3°
91. A 20m chain is divided into
(A) 150 links (B) 100 links
(C) 200 links (D) 250 links
91. 520l AisvA .......... Hi [Aeu2d s 2ud 6.
(A) 150 sull \98/) 100 suil
(C) 200 sull (D) 250 suil
02. Which element in brick carth impart plasticity
(A) Silica (B) Magnesia
(C) Iron Oxide (D) Alumina
92. Vel otigardl Wi 284 sul w25 il Yueu w1d O ?
(A) [Alas (B) HaAsllut
(}Zﬂ 2 LRSS (D) eyl
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[ime stone Is

1) Iencous Rock _
"“[}) ‘ (B) Sedimentary Rock

(C) Votamorphic Rock (D) Granite Rock
" TR LL o .

(4) AL M (B) ¥ugd vigs

(C) Qg M (D) A-uSz was
” ;\'hlch of the following cement is suitable for use in massive concrete structures such as large

ams.
(A) Ordinary Portland Cement YT
'{Rapid Tl (B) Low Heat Cement
VQC > (D) Sulphate Resisting Cement

04, Qi sal B2 iz s e 54 22 EUAHL Gzt 1 wsu 8 ?

(A) AHIL WZE-s [[H2 (B) >0 1230 itz

(C) 3l vl Ret-2 (D) A&zl uRsk sl BFA-2
0z, Initial setting time of OPC Cement is not less than

(4) 10 min. (B) 20 min.

B 30 min. (D) 40 min.

o5, A Btz wiE(Ms Al ww 5L 24191 el

(4) 10 min. (B) 20 min.

(C) 30 min. (D) 40 min.
9. What is an aquifer ?

}X)\é place under ground that stores water
(B) A water pump
(C) A water purifier
None of the above
96. ~ AsfAs 99 7?
(A) @o1edd A5 22 3 ol wellHl s aa 8.

(B) well-l uu
(C) uisll ylgsw
(D) w1l eafda =81 WA 215 uet ¥l
97 Which recharge method is suitable when land is costly
(A) Spreading method ﬂ{ Basin method

(C) Insection well method (D) Checkdam

9. uid ol el Sl @ 56 N wgld uivy 6 ?

(4) vzl ugl (B) ARt weld
(C) §-35a da ugld (D) A58

\_——_//——_——_)——
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98. Which water treatment process is most effective at removing dissolved minerals and salts from

water ?
(A) Filteration (B) Acration
(C) Softening (D) Sedimentation
08. ezl wiorar iR 2 A g2 s2a W 568 dle’ eit-e wEul Aldl Ay AR5 6 ?
(A) 2unel (B) ay (Mzwl

(C) RUY }p/ﬂ!lﬂréam

09, Whatdoes BOD stands for in waste water treatment
) Biological Oxygen Demand (B) Bacterial organic Decomposition

(C) Biochemical Oxygen Dispersion (D) Basic Oxygen Depletion
99.  dRR 2’ dleH-2Mi BOD-L A% 9 6 7
(A) %las i[5l Hial (B) t52[Rue 13(Hl% (A2
(C) cuuis(Rsa A5 (Qgly (D) et 2Hl[5u% 28y
100.  What is the purpose of a check valve in a water distribution system
(A) To control water pressure (B) To regulate water temperature
(C) To prevent backflow \yf To measure water flow rate
100.  well [daze caczanmi As dueadl 84 9 O ?
(A) Wl seueid Ru[Rd s2a (B) wiellt drumiq [Rul2id 524
(C) 5 $dl v2519q) (D) well-t M-t g1 Hiya

R _
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